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Part C
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Part D
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Part E

shiften

right/left
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Part F

cycle | X | Y Z | RWE | add/sub | + — en | mul/div | */en | right/left | shiften
1 3 X 0 1 X 0 X 0 0 1
2 0 X 0 1 X 0 X 0 0 1
3 3 0 0 1 1 1 X 0 X 0
Part G
cycle | X | Y | Z | RWE | add/sub | + — en | mul/div | */en | right/left | shiften
1 1 2 1 1 1 1 X 0 X 0
2 1 2 2 1 0 1 X 0 X 0
3 1 2 1 1 0 1 X 0 X 0
Part H
cycle | X | Y Z | RWE | add/sub | + — en | mul/div | */en | right/left | shiften
1 2 1 2 1 1 1 X 0 X 0
2 2 0 2 1 0 1 X 0 X 0
3 0 1 1 1 0 1 X 0 X 0
4 0 X 0 1 X 0 X 0 0 1
) 0 1 0 1 1 1 X 0 X 0
6 2 0 0 1 X 0 1 1 X 0
7 0 X 0 1 X 0 X 0 1 1
Part I
add | +— | mul | %/ | right | shift
cycle | X | Y | Z | RWE | sub | en | div | en | left en description
1 3122 1 0 0 0 1 0 0 Ry < R3/R»
2 21012 1 0 0 0 0 0 1 Ry < Ry %2
3 11011 1 0 0 0 0 1 1 Ry «+ Ry/2
4 1101 1 0 0 0 0 1 1 Ry < Ry /2
5 21111 1 1 1 0 0 0 0 R+ Ry — Ry
6 11010 1 0 0 0 1 0 0 Ry + Ri/Ry
2 Ba | R1
_ “Ryt 3
Ry = %
Part J
cycle | A | B | C |WE, | X | Y | Z | WE,
1 0 2 2 1 0 2 0 1
2 1 3 3 1 1 3 1 1
3 2 3 3 1 0 1 0 1
4 X 3 0 1 X 0 X 0




